
Name______________________________________                         Date______________ 
 

1  www.worksheetsandwalkthroughs.com © 2013 Worksheets and Walkthroughs 

 

Please visit www.worksheetsandwalkthroughs.com for more worksheets on this topic. 

Multiplication of Whole Numbers 

Word Problems 

 (4.NBT.5) 
Directions: Solve the following word problem using numbers, pictures (model drawings), and words.  

Delfina needs 8,702 beads to make a necklace. She wants to make 7 necklaces. How many beads 

will she need? 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

Answer: ___________________  
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KEY 

Answer:  8702  x 7 = 

                       

                                   

                                                  8000                        700                       2 

                                       

 

                          7               

                                                       56000  +  4900   +  14 = 60914       

 

She needs 60,914 beads to make 7 necklaces. 

 

 

8000 x 7 = 56000  700 x 7 = 4900 2 x 7 = 14 


